Area and Perimeter (Squares and Rectangles) Date:

Round to 2 d.p. if necessary.

Name:

http://www.learnersgrid.com

[1] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

12.4 cm

[2] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

5.6 m

[3] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

97.3 cm

R EEE—
112.5cm

[4] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

7.3 cm

12.5cm




AREA & PERIMETER. Give answers only (You do not need to show your working. Use your calculators and
work quickly. The aim is to find each solution quickly and accurately!) Round to 2 d.p. if necessary.

http://www.learnersgrid.com

[4] sidea=4.5cm;sideb=2.6cm

Area =

Perimeter =

[5] sidea=92.3cm;side b =65.8cm

Area =

Perimeter =

a

[6] side =42.8cm

Area =

Perimeter =

S

[7] sidea=54.5cm;sideb=42.6cm

Area =

Perimeter =

a

[8] sidea=12.3m;sideb=6.4m

Area =

Perimeter =

a

[9] side =492.3cm

Area =

Perimeter =

s

[10] sidea=133.4m;sideb=92.6m

Area =

Perimeter =

a

[11] sidea=42.7m;sideb=358m

Area =

Perimeter =

a

[12] side=812.1m

Area =

Perimeter =

S

[13] sidea=6.5cm;sideb=4.7cm

Area =

Perimeter =

[14] sidea=22.6 cm;sideb=159cm

Area =

Perimeter =

a

[15] side=33.2cm

Area =

Perimeter =

s

[16] sidea=4.5cm;sideb=2.6cm

Area =

Perimeter =

[17] side a=92.3 cm;sideb=65.8cm

Area =

Perimeter =

[18] side =42.8cm

Area =

Perimeter =




Area and Perimeter (Squares and Rectangles) Name: A SV S

Date:

Round to 2 d.p. if necessary.

http://www.learnersgrid.com

[1] Use formulae and show ALL YOUR
WORKING!

Area = |15 3.?@ CVV\-L

Perimeter= L4, beva

12.4 cm

Az ol 0= ks
s P = ¥Qru)
A= 16370 § &

[2] Use formulae and show ALL YOUR
WORKING!

Area = \3.‘-(-'.'.\,\,‘1

Perimeter= | (5 yn

S.6m

24m’

A:dW Pz 2(Ltw)
A= (S‘. (,Yl. l)) P& L(S.ﬁ)‘l-
Pz 13t P =?.(8’>

P =lé

[3] Use formulae ahd show ALL YOUR
WORKING!

Area= 1.09 Lf'é-iSc-Ml
Perimeter = L\-lol o G e

873 cml

—_—
1125 cm

A LW

" = (nes)(ar3)

A= 109462 §

? = L(L 'I"\J/)

P >2(W.S+273)
v ;"(20@.&3

P =g

[4] Use formulae and show ALL YOUR
WORKING!

Area = ‘ll.QScw\"

Perimeter = go\o 6 (W7 VN

13 cm[

A= LW

# s (re)(23)

<
<

125cm




Answers only (You do not need to show your working. Use your calculators and work quickly. The aim is to

find each solution quickly and accurately!) Round to 2 d.p. if necessary. http://www.learnersgrid.com

[4] sidea=4.5cm;sideb=2.6cm
Aea= L1 o F ewmt

Perimeter = 1 Ll'. 2 Cwm

a

[5] side a=92.3 cm; sideb =65.8cm

Area = 6073- 3"(’CW\"
Perimeter = 31 6- ?- A

[6] side=42.8cm

Area = 3—831 .84 CM."
Perimeter = L?‘L.Z €

S

[7] side a=54.5cm; sideb=42.6cm

Area = 233-1.- -"‘C‘M‘
Perimeter= | © Ui Z cwn

b

[8] sidea=12.3m;sideb=6.4m

Area= T EeF2 A"
Perimeter = 3?. L'- WA

b

a

[9] side=492.3cm

Area= 242 359, Z.’iCmﬁ'
perimeter= 12169, L ewn

[10] side a=133.4m;sideb=92.6m

area= {2352 Tl it
Perimeter= %9 L na

L

[11] sidea=42.7m;sideb=35.8m

Area= 152%.6bwa *
Perin;ieter = :\. 5 ?’ wA

[12] side=812.1m
Area= 659450 é. Lfl VV“L
Perimeter= & 29‘-(‘ %. L{- wA

[13] sidea=6.5cm;sideb=4.7cm
Area= 9 0. S'S'm\"v

Perimeter = 2. L(' (VN

-

[14] side a=22.6 cm;sideb=15.9cm

mea= BEA, B em®

Perimeter = ?' ’-'{- [ RN

[15] side=33.2cm
= L1097 , 2"
Perimeter = 3_-5 2-. ? € WA

[16] sidea=4.5cm;sideb=2.6cm
&
Area = 1 l . -} [ XVIN

Perimeter = l Lt ° ?,g. wAa

o

[17] sidea=92.3 cm; side b=65.8cm

Area= 6O 1’.3‘-\' CW."

perimeter= 31 6. 2 ¢ vn

b

[18] side=42.8cm

Area= L8321 Tk em®

Perimeter = 11’ l ® ?— € na




